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(NO. 0~N0.16+11.0 = 331.0m) / (NO. 16+11.0 ~ EP = 173.6m)
PRI 7IL M HESE . TRI77I MEEB HEHE . TRT77I MEEC HESHE  TAT 7L M

P ED) - 23y -
LBE 8 T BEISYIY—5Y) t=10cm BEI BEISYIY—FY) t=10cm
SRR (HEHE : A) SRR (HEMHE - B) SRR (BEMHE-BEERRY 13(7) SIS RTER CHERE)
e u S A (2) HE u st A (2) HE u st @ (12) s " = @ (12)
\o1 | F5=s—s—num 43.49 D44 | 1/2x (7.15 + 7.15) x_10.50 75.07 €3 | 1/2x(_ 0 +3.80)x 1.40 2.66 d26 | F5=A—s—m 9.06
D2 | 1/2x(12.54 + 9.17) x_ 3.50 310 D45 | 1/2x (775 + 7.60 ) x 18,50 141,98 t4 | 1/2x(3.80 +3.50) x_13.00 47.45 d27] 1/2x (268 +268)x 820 21.97
D3 | 1/2x(3.53 +3.50)x _ 0.70 2/16 D46 | 1/2x (7.60 + 7.60 ) x 20,00 152, 00 5 | 1/2x(3.50 + 2.50 ) x_ 2000 60.00 d28| 1/2x (2,68 +2.68)x 9.0 2.12
D4\ 1/2x (3.50 +3.50) x _ 2.10 /.35 D47 | 1/2x (7.60 + 7.60) x__ 4.00 30.40 6 | 1/2x(2.50+2.35)x 114 2.76 d29 | 1/2x(2.68+2.68)x _ 1.50 4.02
D5 |\ 1/2x (5.64 +4.84)x 280 fia.671 D48 | 1/2x (7.60 + 7.60 ) x _16.00 121, 60 £7 | 1/2x(2.35 + 0.85 ) x_16.86 30.17 d30 | 1/2x (268 +2.68)x_18.50 49.58
D6 | \1/2x (3.50 +3.50 ) x _3.20 [11.20 D49 | 1/2x (3.60 + 3.60) x__0.70 2.52 8 | 1/2x (0.85 + 0.50 ) x_20.00 13.50 d31| 1/2x (2.68 + 2.68) x_20.00 53.60
D7 | 1\2x (3.60 +3.60)x 0.80 / 288 D50 | 1/2x (4.00 + 4.00) x _ 1.10 4.40 £9 | 1/2x(0.50 + 0.50 ) x 2,60 1.30 d32 | 1/2x(2.68 +2.68)x 4.0 10.72
D8 | 1/%x(4.84+475)x 1.40 /[ e D51 | 1/2x (3.60 + 3.60) x _18.20 65.52 10 [ 1/2x (0.50 + 0.50 ) x__1.40 0.70 d33 | 1/2x (268 +2.68)x 1525 40.87
D9 | 1/2% (4.75+4.75)x 260 /123 D52 | 1/2 (4.00 + 4.00 ) x_20.00 80.00 11 ] 1/2x (0.50 + 0.50 ) x_13.00 6.50 d34 | 1/2x(2.38+2.38)x_ 0.75 1.78
D10 | 1/2>0(3.60 + 3.60 ) x _20.00 72.00 D53 | 1/2x (760 + 7.60 ) x 20,00 15200 12 [ 1/2% (0.50 + 0.45 ) x_20.00 9,50 435 1/2x(2.38+2.38)x_ 0.20 0.47
DI1 | 1/2x \4.85 + 4.85 ) x_19.80 / 96.03 D54 | 1/2x (7.60+7.60)x 114 8,66 13| 1/2x (0.45 + 0.45 ) x_13.03 5.6 d36 | 1/2x (268 +2.68)x 19.80 53.06
D12 | 1/2x (§.45 + 8.45 ) x_20.00 / 169.00 D55 | 1/2x (7.50 + 7.50 ) x _18.86 141.45 t14 ] 1/2x (0.45 + 0.45) x_ 6.97 3.13 d37 | 1/2x (2.68 + 2.68) x_20.00 53.60
D13 [ 1/2x (8\45 + 8.45) x_10.00 / 84.50 D56 | 1/2x (7.50 + 7.50 ) x_ 20.00 150.00 £15] 1/2x(0.45+ 0 )x 1165 3.97 d38 | 1/2x(2.68 +2.68)x 1.14 3.05
D14 | 1/2x (8.3 + 7.20 ) x_40.00 / 313.00 D57 | 1/2x (3.50 + 3.50 ) x__ 1.80 6.30 16 | J5=4—5—m 7.98 d43 | F5=A—s—mm 5.02
DI5 | 1/2x (7.20,+ 7.20) x_10.00 / 72.00 D58 | 1/2x (4.00 + 4.00) x 210 8.40 t17 ]| J5=x—5—mm 7.16 d44 | 1/2x (2.68 + 2.68) x_10.50 2.14
DI6 | 1/2x (7.20} 7.20) x 20,00 / 144,00 D59 | 1/2x (3.50 + 3.50) x _ 3.10 10.85 202,64 d45 | 1/2x (2.68 + 2.68 ) x _20.00 53.60
DI7 | 1/2x (3.60 \3.60 ) x__5.30 / 19.08 D60 | 1/2x (4.00 + 4.00) x _7.00 28.00 d46 | 1/2x (2.68 + 2.68) x_13.03 34.92
D18 | 1/2x (3.60 + 1.60) x _ 7.30 / 26.28 D61 | 1/2x (7.50 + 7.50 ) x_13.00 97.50 d47| 1/2x (2.68 + 2.68) x 6.9 18.67
D19 | 1/2x (4.00 + 400 ) x 18,00 / 72.00 D62 | 1/2x (150 + 7.50 ) x 20,00 150.00 d48 | 1/2x (2,68 + 2.68) x_20.00 53.60
D20 | 1/2x (3.60 + 4.0p) x__ 0.90 / 3.42 D63 | 1/2x (7.50 + 7.50) x _13.03 97.72 d49 | 1/2x (2.68 + 2.68) x_18.80 50.38
D21 | 1/2x (4.00 + 4.00) x_17.20 / 68.80 D64 | 1/2x (1.50 + 1.50) x__ 6.97 52.27 d50 | I5=A—g—m 5.02
D22 | 1/2x(3.60 +3.60)\x 1670 ] 60.12 D65 | 1/2x (3.50 + 3.50) x__ 2.00 7.00 d51 | 75=A—g—m 4.68
D23 | 1/2x (3.55 + 3.55)% 14.60 ] 51.83 D66 | 1/2 (3.60 + 3.60) x _18.00 64.80 d52 | 1/2x (2.68 +2.68)x_11.75 31.49
D24 | 1/2x (1.15 + .15 ) _20.00 / 143.00 D67 | 1/2x (4.00 + 4.00) x _17.65 70.60 d53 | 1/2x(2.68 +2.68)x _ 4.60 12.32
D25 | 1/2x (115 + 7.15 ) x \ 6.49 / 46.40 D68 | 1/2x (4.00 +3.95) x _ 2.35 9.34 623,74
D26 | 1/2x (1.15 + 7.15) x_\3.52 / 96. 66 D69 | 1/2x (7.55 + 7.20 ) x__ 1.80 57.52
D27 [ 1/2x (115 + 7.15) x .50/ 53. 62 D70 | 1/2x (7.20 +7.20 ) x _11.26 81.07
D28 | 1/2x (1.15 + 7.15 ) x_12\6f 89.37 D71 ] 1/2x (3.60+3.60)x 0.74 2.6
D29 [ 1/2x(1.15+7.15)x 68 7.3 D72 | 1/2x (4.0 + 4.00) x__ 8.45 33.80
D30 [ 1/2x (715 + 7.15) x 1938 95.66 D73 | 1/2x (3.60 +3.60) x _ 0.94 3.38
D31 | 1/2x (115 + 7.15 ) x_£0.00 \ 143.00 D74 | 1/2x (3.60 + 3.60) x__4.00 14.40
D32 | 1/2x (3.60 +3.60) x /19.70 \ 70.92 D75 | 1/2x (4.00 + 4.00) x __ 4.40 17.60
D33 | 1/2x (3.55 +3.55) x/ 2410\ 85.55 D76 | 1/2x (3.60 + 3.60) x 11.75 42.30
D34 | 1/2x(4.00+4.00)£ 620 \ 24.80 D77 | 1/2x (3.55 + 3.55) x_11.60 41.18
D35 | 1/2x(4.00+4.00)x 55  \ 22.00 D78 | 1/2x (7.15 + 7.15 ) x__ 4.60 32.89
D36 | 1/2x (4.00+4.00)x 830  \ 33.20 2055. 18
D37 | 1/2x (3.60 + 4.0) x _ 1.30 \ 4.94
D38 | 1/2x (4.00+4f0)x 330 \ 13.20
D39 [ 1/2x (8.00+ §00)x 580 \ 46.40 SRR (EESE - B)
D40 | 1/2x (4.00 +/4.00) x 280 \ 11.20 #S [} Y @ (n2)
D41 [ 1/2x(3.60/3.60)x 820 \ 29.52 D81 | J5=A—5—H 9.88
D42 | 1/2x (4.09/+ 4.00) x__ 9.30 \ 37.20 082 | F5=A—s—smm 15.33
D43 [ 1/2x (4.0 +3.55)x 170 6.41 25.21
2491, 53
SE RIS (EEHE : A)
. = m2.
T e \ mion EERME EESE B BEE
D80 | Fh=x—s—m \ .49 s L = i1
el | 0.20 x  18.50 3.70
\  63.62
e2 | 0.20 x  20.00 4.00
e3 | 0.20 x 4.0 0.80
ed | 0.20 x  16.00 3.20
S RTE (Y 1 13- Sl - A) L ne
® 3 = FH D) - KAKA2~NO. 20+4. 275 RIS 12.54
[ 95=2—5—mm 302. 98
[12 | 95=s—s—mm 150,41\
453.39




